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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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Section - A

Which one is a stronger acid, with pH=>5 or with pH=2"?

Construction of dams submerges large areas of forests, how does this contribute to the
green house effect ?

What is the lowest resistance that can be obtained by combining four coils of resistors
of 4Q,8Q,12Q and 24Q ?

If copper metal is heated over a flame, it develops a coating. What is the colour and
composition of this coating ?

What change will you observe if white silver chloride is placed in sunlight ? Write an
equation for the reaction and the type of the reaction.

Will current flow more easily through a thick wire or a thin wire of the same material,
when connected to the same source ? Why ? Name the factors on which the resistance
of a wire depends.

Write the general principle involved in generating nuclear energy. Name one fuel used
in a nuclear reactor.

What is a solenoid ? Draw a sketch to show the pattern of field lines due to a solenoid
carrying current.

What is the function of the trachea ? Why do its walls not collapse even when there is
less air in it ?

A chemical compound having a strong smell of chlorine is used to disinfect water.
Name the compound and write a chemical equation to show its preparation. Give its
one uses.

What are olfactory indicators ? Dry HCI gas does not change the colour of dry blue
litmus. Give reason.

An electric lamp is marked 220V, 100W. It is used for 5 hours daily. Calculate
(a) Its resistance while glowing
(b) Energy consumed in kWh/day.

Most metals do not react with bases, but Zinc metal does. Suggest a reason. Write an
equation for the reaction between Zn and NaOH.

Giving a schematic diagram of bio-gas plant explain the production of bio-gas and
manure. Give the composition of bio-gas.
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Draw a neat labelled diagram of a neuron.

Explain why :

(a) Colour of copper sulphate crystals changes on heating ?
(b) Baking soda acts as an antacid ?

() An acid should be added to water while diluting ?

Name a harmone secreted by (a) Pancreas (b) Pituitary (c) Thyroid. Write one function
of each of the harmones.

5Q

10 Q
30 QO

+| -
HH—®-
6V
(a) For the circuit shown above in the diagram, calculate :
(i)  Value of current through the 30() resistor.

(if) Total resistance of the circuit.
(b) Give two advantages of connecting electrical devices in parallel with battery.

A, B, and C are three elements which undergo chemical reactions according to the
following equations.

A,O3 + 2B —» B,O5 + 2A
3CSO, + 2B — B, (SO4);+3C
3CO+2A —» AO5 + 3C
Answer the following questions with reasons :
(a) Which element is the most reactive ?
(b)  Which element is the least reactive ?
What is the type of reactions listed above ?

Describe an activity to draw a magnetic field line outside a bar magnet from one
pole to another.

List any two properties of magnetic field lines.

Electric fuse is an important component of all domestic circuits. Why ?

An electric oven of rating 2 kW, 220V is operated in a domestic circuit with a
current rating of 5A. What result would you expect ? Explain.
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22.  What is Redox reaction ? Identify the substance oxidised and the substance reduced in
the following reactions :

i) MnO, + 4HCl—»MnCl, +2H,0 + Cl,
CuO +H, » Cu +HZO

Draw a diagram of human alimentary canal and label on it :
(i) gall bladder (i) liver (iii) pancreas (iv) small intestene.
What is emulsification of fats? Why is it necessary ?
‘OR
Draw the human excretory system and label :

(i) Kidney (i) Aorta (iii) Ureter (iv) Urinary bladder.
What is the purpose of sending blood to the kidney’s for filtration ?

State ohm’s law. Express it mathematically.
Write symbols used in electric circuits to represent :
(i) Variable resistance (i) Voltmeter.

An electric bulb is rated 220V and 100W. When it is operated on 110V, what will
be the power consumed ?

IORI
Why is the series arrangement not used for domestic circuits ?
Why is the tungsten used almost exclusively for filament of electric lamps ?

Why are the conductors of electric heating devices such as bread toasters and
electric irons made of an alloy rather than a pure metal ?

Why are copper and aluminium wires usually employed for electricity
transmission ?

Why does the cord of an electric heater not glow while the heating element does ?

Show the formation of MgO by the transfer of electrons.
Name the cation and anion.
Write three properties of ionic compounds.
‘OR’
Give reason for the following -
(i) Gold and platinum are used in jewellary.
(ii) Copper cannot displace hydrogen from dilute acids.
(iii) Stainless steel does not rust easily.

(iv) Metals can be given different shapes according to our needs.

(v) Zinc does not give hydrogen gas on reacting with HNO,.
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26.

27.

Section - B

Four students were asked to test the pH of four samples as shown under. Whose result
is reported correctly ?

Student| Water |Ethanoic acid
(a) 7 1
(b) 7 3
(c) 7 1
(d) 7 3

The colours obtained on a pH paper for a highly acidic, basic and neutral solutions are :

(a) blue, orange, green

b) yellow, blue, green
)

(
(c red, blue, green
(d) red, green, blue

A student added dil HCI to a test tube containing Zinc granules and made following
observations.

() The surface of Zinc becomes black.

(I) A gas evolved which burnt with a pop sound.

(III) The solution remains colourless.

The correct observations are :

(@) landII (b) IandIII
() IIand III (d) L IIand III

Four students performed the reactions of a dilute hydrochloric acid and a solution of
sodium hydroxide with zinc metal and solid sodium carbonate separately. They reported
the possible reaction by (v') and no reaction by (X). In which of the following sets all
observations are correct.

Set |[HC] + Zn|HC] + Na,CO3;| NaOH + Zn | NaOH + Na,CO;

(a) v v v

(b)

X
(c) v
(d) v
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30. For the circuits in figures I and II, the voltmeter reading would be :

2V 2V

(a) 2V in circuit I and OV in circuit II
(b) OV in both circuits
(c) 2V in both circuits
(

d) OV in circuit I and 2V in circuit II

The positive and negative terminal markings are missing on a given battery eliminator.
The correct terminal markings can best be identified by the arrangement shown in :

Battery Battery
) eliminator eliminator]

Battery
eliminator

VAN

()
A\
©)
(a) FigA Fig A and B () FigBand C (d) FigCand A
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32. Two students are using the two circuits shown below. They are doing experiment to
find the equivalent resistance of a :

+ )=
N\

(i)
Series combination and a parallel combination respectively, of the two given
resistors.
Parallel combination and a series combination respectively of the two given resistors.
Series combination of the two given resistors in both the cases.
Parallel combination of the two given resistors in both the cases.

A student has to connect 4 cells of 1.5V each to form a battery of voltage 6V.

—HHAE AR ARARE ARRRE

The correct way of connecting these cells is shown in figure :
@ A ( B () € () D

For the circuits shown in fig I and 1II, the ammeter readings would be :

)= )=
\J \J

®

5V 5V
Hi |1+ e L O
I II

IA in circuit I and OA in circuit II (b) OA in both circuits
IA in both circuits (d) OA in circuit I and IA in circuit II
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35. Select the correct labelling for the following diagram.

epidermal cells guard cells 3) stoma

3
3

guard cells stoma epidermal cells

3)

epidermal cells stoma (3) guard cells
3)
3)

stoma epidermal cells guard cells

Given here is a sketch of a leaf partially covered with black paper and which is to be
used in the experiment to show that light is necessary for the process of photosynthesis.
At the end of the experiment which one of the leaf parts labelled I, II and IIT will
become blue black when dipped in iodine solution.

(@) Tonly (b) 1II only () TandII (d) II'and I

The teacher instructed a student to place a potted plant in dark for 24 hours prior to an
experiment on photosynthesis. The purpose of placing it in a dark room is to :

(a) increase intake of oxygen
(b

) activate chloroplast in leaves
(c) destarch leaves

(d) denature the enzymes in leaves
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38. In the experiment shown in the figure, water is found to rise in the bent tube :

KOH
solution

Germinating seeds

The reason is that :
(a) Seeds use up oxygen in the flask

b) Carbon dioxide is given out by the germinating seeds

(
() Germinating seeds attract water from the beaker
(

d) Seeds use oxygen and release carbondioxide which is absorbed by potassium
hydroxide

39. A student performed the starch test on a leaf some steps involved are shown below.

Leaf in boiling Leaf in iodine Leaf in alcohol Leaf in water at
water solution heated in a water bath room temperature

(i) (ii) (iii) (iv)
The correct sequence of steps should be :
(a) (iv), (i), (i), () (b) (), (i), (i), ()
(c) (i), (iid), (iv), (i) (d) (), (i), @iv), (ii)
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40. When an iron nail is placed in copper sulphate solution the observations noted are as
follows :

(a) The solution turns light green

(b) A brown deposit is formed on the nail
(c) both (a) and (b)
(

d) none of the above

The stain used to see the stomata in the temporary mount of a leaf peel is :

(a) safranin (b) methylene blue

(c) cotton blue (d) acetocarmine

-00o0-
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g TEEH AifiTen fTE FAT &1 A T8 277 € STeT i fadshiid e 3 STam B g1 39
e 1 T fAfge 2 39 T i U Sl THEfE T fafen | 595 T w1 65
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feret farea ot fsr T 220V, 100w 2ifsrd o1 wfafed 5 9= Soan faman i 71
1 IR HIT :

(a) THHA HHY e I Y (b) s g Hfdfed SugsR i (kWh #)

o o

BISIGIECR

sTferanter oy ekl B STt el et W e el @ erfufsean &t €1 591 T HRO
fafeu | zn #t NaOH 9 1fufswan &1 qam@fies T fafau|

AN T BT HeET 3T Tt 30 SENHE 997 TS o9 hi AT hifST | &g
e fafay |

= 1 To=s HIfhd NG Eifg |

ST FHifST o T =il g ?

(a) TH FH W FIR Tethe fFeal &1 1 giafda & s 2|
(b) Sfeh a1 Tefae & &9 A % w2

(c) TIHd Hd §HA S § 3T ol e =ifee |

(a) SR (b) T () STaruify gRI Snfad g =1 7m fafEw | 78 gois e 1 T
Fri fafau |

HHF—®-
6V
TR WY Y foga aRuy & fau f=fatea &1 9ikees s :
() 300 fdiYu® ¥ YeTfed 9RI 1 71
@) afuy w1 Fa gfay
(b) foga wfeEl 1 S @ urvd A FAfsa & % <y fafeu)
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19. 9 q@ A, Ba C T2 <t T Tomafe S % STER TEEfie stfufwar s €
A,0;+2B - B0, +2A
3CS0, +2B —> By(SO,);+3C
3CO+2A - A,05+3C

w01 Gfed fFfafad 91 & S Sife .
FF 91 a9 Terd Aty Afafmamsia 2
FH |1 dc g w9 Tfufmania &2
SR R A stfufsReneti 1 wRR I R 2

fhell B I % de T g9 ¥ T ¥ q9 g & W@ @ied o fau fedt

fShaTehelTd &1 90 HITST |

TR & @IS o Rl o1 O i gt I

o WIS Y wie] TRuY 1 T HEEyl STagd B § | i 2

2 kW, 220V 3TwdI i fagd gt 5A o1 ST{Hdi® & =] uRuy § genferd 1 St 2 |
31y form 9oy 1 3TdeT A € 7 AN HIfSU |

. et srfufwan e &2 = <) T vt aifufweneti W Swafad yered qen sto=faa uerd
i UgAM HIW,
i) MnO, + 4HCI - MnCl,+2H,0+Cl,
(i) CuO+H, - Cu+H,0

(a) TME qrEE O3 & ANE Giget 39 R FeAfafaa & THifea i |
() fwE () IHd (i) TR (iv) &=
(b) TN HT THCHIHI I 7 IE SATIH Hl ¢ 7
Jrerar
(a) A IcESH a3 F ARG Giaa 36 R Ffafad 1 i ST

() JI** (i)  FETEHAT (iii) ¥ 9T (iv) TR
(b) o= & fou SR 1 okl qoF Ao 1 1 L9 BT 2
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3T =1 Fraw fafew) 38 nifordia &9 § =1 sifs

forega afkaen & ¢

() IRedt gfady
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et foma siea 1 STIHAI 100W; 220V ©1 38 110V R YaTferd i W 39 v
ERIK LI
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forga <tedi o awgell o fmior ur: weE S 1 € SR A foher ST € 2
foga o il S e Iy aun fogd st & 9es YS 9ei h T T
fasgremgsti & == e S € 2
forga g & faw g i qon YAt & arl &1 9 =1 fwan S 8 2
ot fagm geX &1 a9 ST99a 9 YaTfed il W Iq« g ol § dl fRY SHent St
I I TRI B ?

ST MR §R MgO o1 US|
he¥F qUT T &1 -9 fafaa |
3Tt ARt o o= o7 fafa |

3AUAT

fr=fafea & wro fafau .

(@)
(i)
(iif)
(
(

iv)

v)

SO & W qe RifeTH 1 TR foRa S g

T Tl | HITR BEEIeM i forenfa & T wehan |
WA S W A | S TR e |

wIqell 1 sTreasRargaR fafie sefa < s wedt €1
HNO, # aifufsran 7 W i gregiem 19 7@ <)

HIT-o

IR B G A ST T =R T & pH 1 G870 3 o fTq w1 @1 fhea w2t 9o Hie

fiF 2

BIEl

TgHTge o1t [HCI [NaOH

(a)

1

(b)

(c)

13

(d)

1
3
1
3

1
1 1
1
1

13
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27.

pH T3 W 3Ty 3Ty, sTRaTa e e faeraai g/ few s 1 e 21 € -
(a) e, A, B0 (b)  dter, e, g0
(c) o, Hiet, g1 (d) o, &, Jien

et B 7 T a1, 9 S it St off, 99 HCI fram w ffafea e fea .

O 5% ®1 I3 Fren & S R

(1) T 19 fHwadt St o et & Serdt 2

(1) o TR @ R

TE &I E

(a) (1) ¥R () (b) (1) SR (1)

(c) (1) 3 (1) (d) (1), (1) R (110)

IR BE A T TESEARS T a1 Hifean gEgiaes foaeem &t fSiw g qen 3 wifead
FEHe ¥ JUh-gueh Afufchar w3l | I/ 9RO | guifoq sfafsean &1 (v) a9 &8
Afafsran & = (x) 571 fa@n ) Jerit & forg wg=a | gt Jeror we €

= HC] + Zn|HC] + Na,CO3NaOH + Zn|NaOH + Na,COj
(a) v v v
(b) X
(c) v
(d) v

3@ [ a1 [1 # T U qRued # Sieedied & g e :
2V

——(

2Q

(™
(a) WA IH2VAMIR@INH OV (b) <l 9Raei § OV

(c) <M ufwdi ® 2v (d) dfayg [ OV au 9fige 11§ 2V
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(@) fexAd (b) fIATBH (c) f=BaCH d fecaAd

32. < BT A9 IWC T < GRw T STER W F 1 9 T TN R A R W@ € feu T e
JiaRIeh! 1 qod Taly Safh S Ffaeehi & Halo & A

+ )=
N\

(a)  9oft FASE qo1 9ed HaeH
(c) <MIH Fuft HaAeH
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33. TRt o= #1 4 Tedl, 7 Y&F 1.5V 1 B, I GANSd Tk 6V i 9 a4 B
SHHHE AHHHE AHHRE ARREHE
(A) (B) © (D)

Yol ol G 1 o1 &l &1 forg fas § eeifa mn §, a8 ©
(@) A (b) B (0 C (d)

. feF a1 ¥ <o T aReedt § e o qeEiE e

+ o)
N\

AANANAA
5Q

® @

* 5V 5V

HiH ) —H 1| 1] )
I II

qfger 1§ 1A den 9fgey 118 OA 2 gfgel § OA
EEIRIECRIR:-BVN gftwy 15 OA o1 9fiud ¥ 1A

. few e fo o fog wEt T g

1080607 - Al




gl MR T W HTd FHITS W Sh! 39 Y=t 1 Fost i 1 € forgent swam ¢ =g <wii fh
YehTY GYATT & TeAT Yehrer 3Tavaes ©' 94 O foran ST1 81 W9 & 31=d °, =il R SIS
foreram # gam T Uit % riferd Wl L AT H @ D ¥ 90T i e 8 ST 2

(a) A I (b) ohe 11 (c) QI (d) IIdeTII

reren 7 forelt BT &1 7 w1 T fF 9% ot Seel™oT 61 YoM & § 96 Tl | o e a6
24 9 T I FI Y @ | WY I A F F W@ A1 3039

(a) ST o T | ghg LA (b) TFTEl & FARRE Tl BT HLAT
(c) ufal 1 = ed & (d) ol & ComeHl @i faehd e

o o g Uy § gt Aot § Sl 1 q S 33T U AT | THHRT RO A © fF

SISl TR Y AT BT STANT Y feran B
HFHRa sl 7w EATFRES MR 7
HPHRA oS ST ¥ Tl 1 3Tehfdd w4 T |

SISt SATHRAIST T STANT Hleh HIe SRSATFARE T Hd ¢ (o TR FEgaEs
ST T A B |

1080607 - Al




39. fowrdt fommeff 3 = Tt W = wlemn fw frms $ =7 T g T )

(i) (i) (iif)
Tt 3o oA B Ul e faeras o Tt Ueehleial | Tt et qT9 W STt |

T 90T 1 Wl A AT AM6T
, (i), (1), ()
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i T 9T 8T o7 S
(a) TN (b) I B T

41. 91 1 J90 K % TTU g5t i Teeed 1 TR0 TR | ST 8 arell AT ©
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